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— Interference
— Coalescing

save/restore
- (spilling)
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1. Interference

2. Coalescing(targeting)
— mov




- regenv(x) = R




RegMap(a) = Ry
RegMap(b) = R,

1\

|

; RegMap(a) = Ry
unc(a, C); RegMap(c) = R,

RegMap(d) = R,




save/restore




Save restore

m save(X): X
— X
m restore(x): X




— Save

— Save

restore




(1/2)
R, Rf R, 3
m letrecfab=
s letx=-ainlety=-binx-y-a-»>b
- l
.. letrecfR R, =
Ietx:—RllnIety:l—Rzlnx—y—Rl—R2
et rec fR, R, =
B letR,=-R/inlety=-R, InR, -y-R, -

R

y ?



(2/2)

m b

= letrecfab= |
letx=-ainlety=-binx—-y—-a-»>b

l

¥ letrecfab= .
i let X = —a In save(b); lety = —b In
X —y —a— (restore(b); b




W let x = ..in

= lety=..In

letz=fXxyin
fz<0thenx—1lelsey -2

l

™ letx=..1In

lety = .. In

save(x); save(y); letz=fxy In
If z< 0 then restore(x), x — 1
else restore(y); y — 2




(1/2)
! letaziff()thenx-yelsey-xina+x+y
!
& let a = save(x); save(y); If f ()
then (restore(x); xX) - (restore(y); y)
(* regenv={x-R,y-R,} %)
else (restore(y); y) - (restore(x); X)
(* regenv={x-R,y-R, }*)
= ina+x+y




(2/2)

X Y restore

B leta=iff()thenx-yelsey-xina+x+y
’ :
" let a = save(x); save(y); If T ()
then (restore(x); x) - (restore(y); y)
(* regenv={x-R,y-R,} %)

else (restore(y); y) - (restore(x); X)
(* regenv ={x-R,y-R, }*)

= Ina+ (restore(x); x) + (restore(y); y)




regAlloc.target-earlyspill.ml(1/3)

= = regAlloc.mi
§ = save save




regAlloc.target-earlyspill.ml(2/3)

1. Forget

2. ToSpill

2.NoSpill




regAlloc.target-earlyspill.mil(3/3)

g = ToSpil

2. save(X)




v (X, h) « CallCls(y, h, z,, ..., Z,))
v (X, h) « CallDir(L;, h, z,, ..., Z,)
v return(x, h)

— MakeCls
N

— return
v return x to r




(1/2)

save/restore

etx=..1In
ety=(fx<0thenflelse?2)in
etz=(fy<3thenx—-4elsegb)in
X—y—12




(2/2)

' spill
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